Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan60v.dat2

O..ModuleQ Link1

YY 75 XX

Threshold




Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

tbscan60v.dat2

7?» I I 7\”7\” ,,,‘,,,,‘,,,,‘,,,l,,,!>,,,‘,,,,‘,,,,‘,,,‘,,,,3,,,,‘,,,,‘,,,,‘,,,}2,:{ ”\””\7”\”7\””:”7\7”\7;7\7 l,‘{ I I I \j :{7
7300 -
1998
- 4997
73{777\7777\7777\777\7777‘7777\7777\7”7\777i777[777\7777\7777\777\7777‘7777\7777\7777\777i777[777\”77\7”7\777\7777[777\7777\7777\777E777[7”\””\””\”7\””[7
0 1 2 3 4 5 6 7

Threshold

YY 75 XX



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan60v dat2

0 1 2 3 4 5 6 7
Threshold
YY L XX
| | | | | - 2.409 |

P

Threshold

YY 75 XX



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan60v

.dat2

71 ,,,,,,,,,,,, % ““L“““‘X‘ZY/Hd‘fHH‘Z*‘/‘@‘ /‘H T‘”ﬁi
, | | P | 2,407

B Q f s
U USSR VOSSR USSR b O..Module4 Link1........__. -
7{\\‘\\[\\‘\\[\\[\\ 777777 L \\[7

0 1 2 3 4 5 7
Threshold

YY 75 XX



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan80v.dat2

YY 75 XX

Threshold




Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan80v.dat2

I S S N o Modulel Linkl o
7‘[”7\77”7”7777\””"777\77”777”7F77V‘P77\7777”7”77\7”7‘”77\7””777777E”7[777\”777777”7\7777[”7\7”””””[7”‘[7”\ 77777777 \”7\””[7
0 1 2 3 4 5 6 7

Threshold

YY 75 XX



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan80v.dat2

- | | i
S Lo b EN b O..Module2 Link1. ... . _
7[\\‘\\[\\‘\\[\ 777777777777777 [\\[\ 77777777 \\[7

0 1 2 3 4 5 6 7
Threshold

YY 75 XX



Efficiency

Efficiency

0.8

0.6

0.4

0.2

tbscan80v.dat2

J ,,,,,,,,,,,,,,,,,,,,,,, L““ ,,,,,,, “‘X‘z{/r‘wo‘w“ty‘zﬂ“‘l/‘“T‘jL
N % P1 | - 2.964
- | 9991 1
* I U """""""""""""""""""""""""" 7.002!]
i 1 6495 §
IS R S W M I N 1.313 7
: Module4 L%inkO :
N e\ R SN W N— i
7[ L L L L ‘ L L L L [ L L L L ‘ L L L L [ L L L L L L L L ‘ L L L L [7
0 1 2 3 4 5 6 7
Threshold
R 4L ‘{/‘“T‘jli

| ‘ | | | [7
6 7
Threshold

YY 75 XX



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscanl100v.dat2

- : : ] 7
S Lo b EN b O..ModuleQ Link1. ... _
7[\\‘\\[\\‘\\[\\[\\[\ 77777777 \\[7

0 1 2 3 4 5 6 7
Threshold

YY 75 XX



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscanl100v.dat2

YY 75 XX

Threshold




Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscanl100v.dat2

I SR SO SN S o N o Module2 Linkl ~
7‘[”7\77”7”7777\””"777\77”777”7F777[777\7777”7”77\7”7‘”77\7””777777E”7[777\”777777”7\7777‘[”7\7”””””[7”[7”\ 77777777 \”7\””[7
0 1 2 3 4 5 6 7

Threshold

YY 75 XX



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscanl100v.dat2

YY 75 XX

Threshold




Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscanl120v.dat2

YY 75 XX

Threshold




Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscanl120v.dat2

I S S N o Modulel Linkl o
7‘[”7\77”7”7777\””"777\77”777”7F77V‘P77\7777”7”77\7”7‘”77\7””777777E”7[777\”777777”7\7777[”7\7”””””[7”‘[7”\ 77777777 \”7\””[7
0 1 2 3 4 5 6 7

Threshold

YY 75 XX



Efficiency

tbscanl120v.dat2

=

0.8

0.6

0.4

0.2

Efficiency

Threshold

YY 75 XX



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscanl120v.dat2

YY 75 XX

Threshold




Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan140v.dat2

YY 75 XX

Threshold




Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan140v.dat2

YY 75 XX

Threshold




Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan140v.dat2

0 1 2 3 4 5 6 7
Threshold

I - 3.813
- 1.010 -
N Py 9965
i 2000 -
ISR NS RS D L at= N NN A 4389 |
R S o S N . Module2Linkd i
’ 1
7[\\‘\\[\\‘\\[\\[\\[\ 77777777 \\[7
0 1 2 3 4 5 6 7
Threshold

YY 75 XX



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan140v.dat2

YY 75 XX

Threshold




Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscanl160v.dat2

YY 75 XX

Threshold




Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscanl160v.dat2

N SRR SR S S A T o Modulel Linkl ~
N SR SO S S ONC S B i
7‘[”7\77”7”7777\””"777\77”777”7F777[777\7777”7”77\7”7‘”77\7””777777E”7[777\”777777”7\7777‘[”7\7”””””[7”[7”\ 77777777 \”7\””[7

0 1 2 3 4 5 6 7
Threshold

YY 75 XX



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan 160v dat2

'7"9'6 """

Threshold

i T 3'”‘”"””"7{7'3{*

3913 |

Threshold



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscanl160v.dat2

YY 75 XX

Threshold




Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan180v.dat2

I S S N o ModuleO Linkl o
7‘[”7\77”7”7777\””"777\77”777”7F77V‘P77\7777”7”77\7”7‘”77\7””777777E”7[777\”777777”7\7777[”7\7”””””[7”‘[7”\ 77777777 \”7\””[7
0 1 2 3 4 5 6 7

Threshold

YY 75 XX



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan180v.dat2

[N SRR SO SO S S o Modulel Linkl ~
7‘[”7\77”7”7777\””"777\77”777”7F777[777\7777”7”77\7”7‘”77\7””777777E”7[777\”777777”7\7777‘[”7\7”””””[7”[7”\ 77777777 \”7\””[7
0 1 2 3 4 5 6 7

Threshold

YY 75 XX



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.4

0.2

tbscan180v.dat2

S |

Q,,ModuJeZ,I;inkl ,,,,,,,,,,,, f

YY 75 XX

Threshold



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan180v.dat2

YY 75 XX

Threshold




Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan200v.dat2

I S S N o ModuleO Linkl o
| ? © 1 ? -
7‘[”7\77”7”7777\””"777\77”777”7F77V‘P77\7777”7”77\7”7‘”77\7””777777E”7[777\”777777”7\7777[”7\7”””””[7”‘[7”\ 77777777 \”7\””[7

0 1 2 3 4 5 6 7
Threshold

YY 75 XX



Efficiency

Efficiency

=

0.8

0.6

0.4

0.2

0.8

0.6

0.4

0.2

tbscan200v.dat2

- S | B
S Lo b Lo N b O..Modulel Link1.........__. -
7[\\‘\\[\\‘\\[\\[ 777777777777777777 [\ 77777777 \\[7

0 1 2 3 4 5 6 7
Threshold

YY 75 XX



Efficiency

tbscan200v.dat2

=

0.8

0.6

0.4

0.2

Efficiency

Threshold

YY 75 XX



Efficiency

Efficiency

tbscan200v.dat2

Threshold
YY G XX



